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Lesson] Problem Solving

8 ‘Similarity in Right Triangles
1. A sculpture is 10 feet long and 6 feet
wide. The artist made the sculpture so
that the height is the geometric mean of
the length and the width. What is the
height of the sculpture to the nearest
tenth of a foot?

2. The altitude to the hypotenuse of a right

. The perimeter of AABC is 56.4 cm, and
the perimeter of AGHJ is 14.1 cm. The
perimeter of ADEF is the geometric
mean of these two perimeters. What is
the perimeter of ADEF?

Choose the best answer.
5. The altitude to the hypotenuse of a right

triangle divides the hypotenuse into two
segments that are x cm and 4x cm,
respectively. What is the length of the
altitude?

A 2x C 5x
B 2.5x D 4x°

. A surveyor sketched

the diagram at

right to calculate the
distance across a

ravine. What is x,

the distance across

the ravine, to the

nearest tenth of a meter?

A72m C 164 m
B 122m D 64.7 m

triangle divides the hypotenuse into two
segments that are 12 mm long and 27 mm
long. What is the area of the triangle?

. Tamara stands facing a painting in a

museum. Her lines of sight to the top and
bottom of the painting form a 90° angle.
How tall is the painting?

. Jack stands 9 feet from the primate

enclosure at the zoo. His lines of sight to
the top and bottom of the enclosure form
a 90° angle. When he looks straight
ahead at the enclosure, the vertical
distance between his line of sight and
the bottom of the enclosure is 5 feet.
What is the height of the enclosure?

F 16.2 ft H 23.8 ft
G 21.21t J 28.8 ft

Original content Copyright © by Holt McDougal. Additions and changes to the original content are the responsibility of the instructor.

8-9

Holt McDougal Geometry



Answers for the chapter Right Triangles and Trigonometry

8-1 SIMILARITY IN RIGHT TRIANGLES 5.
Practice A
1. square root 2. altitude 6. 45°, 45°, 90°
3. AABC ~ ADBA ~ ADAC 7. There are no conditions under which the
4. 6 5 12 arithmetic mean will be less than the
y geometric mean.
6. 10 7. = ,
8. 5435 ft 9. 357 ft
8. 9. b _ e 10. 2-33 11. 262
@ y @ 4 4 3 3
10. xy 11. xc; yc 12. S 193in.z5§in.
12 4
12. 4; 45 ;245
Reteach
Practice B 1. AMNL ~ ANPL ~ AMPN
1. Possible answers: AJKL ~ AJLM 2 AFGH ~ AFJG ~ AGJH
~ ALKM
3.9 4. 12
2. ADEF ~ AGED ~ ANGDF 5 76
3. AWXY ~ AZXW ~ NZWY 5. 275 6. 446
4. 1 5. 15 7.8;,45;25
6. 62 7. —3*2/5 8.3+2;316:3+3
9.4;,2J13; 3413
8. 24/35 9.7 i V13
10. 28; 447 ;814
10. 35:2:/18: 2477 Via
11. 30;10+/3; 2043 12. 2; J15; V10 Cha"eng‘z i
1. 121 ft 2. 564 ft
13. 3410 3+/35;3/14 . _
3. Divide the perimeter by 4 and square the
14. 144 60; 156 15. 12; 94/13; 613 quotient.
16. 3,807 feet 17. %: Problem Solving
e 2
" d _@ " i_ﬁ 1. 7.7 ft 2. 3511mm
" b+c a ] e 3.28.2cm 4. 10th
Practice C ? g 6.G
49,576 |
© 257 25 Reading Strategies
2. 19 - V105; 19 + V105 L 2_x ) 218
3. 30; 1043 x 9
4. a and b have the same geometric and 3. x=4.2 4. Add 8 +15.
arithmetic means if a = b. 5. y* =345 6. y~18.6
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